Bryan Berns

ECE 440
7.12A
Since there are repeated zeros in the Y direction, we will use trigonometric functions:



[image: image1.wmf](

)

(

)

(

)

Ky

D

Ky

C

Kx

B

Kx

A

y

x

sin

cos

sinh

cosh

,

¢

+

+

=

F




Furthermore, we only need SIN to do handle two repeated zeroes at the given points so: (C = 0 and K=m*pi/b)
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We also have two repeated values in the X direction, so this further reduces to the following noting that COSH is an even function (B = 0).  
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Noting this requires a series solution:
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Expanding the sines to a Fourier expansion:
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Therefore, the total harmonic is:
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